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UNIVERSITY OF NORTH BENGAL 

B.A. Programme 6th Semester Examination, 2021  

GE2-PHILOSOPHY 

WESTERN LOGIC 
Time Allotted: 2 Hours Full Marks: 60 

ASSIGNMENT 

The questions are of equal value. 
The figures in the margin indicate full marks. 

 Prepare Assignments on any three of the following within 800 words each 

িনmিলিখত �য-�কােনা িতনিট  pেűর উtর দাও pিতিট অনিধক ৮০০ শেbর মেধ° 
20×3 = 60

1. (a) Transform the following propositions to their logical form: 
 

10
 িনmিলিখত বাকয্gিলেক বচেন rপাnিরত করঃ 

 (i) An ostrich cannot fly. 
 অিsচ উড়েত পাের না।
 (ii) Swans are white. 
 রাজহংস হয় সাদা। 
 (iii) Often Friends are trustworthy.
 বnুরা pায়ই িবƬােসর েযাগয্। 
 (iv) Only educated persons are sober.

 েকবলমাt িশিkত বয্িkরাই ভd। 
(b) Explain ‘distribution of terms’. Mention two rules of distribution and explain 

them with the help of illustrations. 
10

 ‘পেদর বয্াপয্তা’ িবষয়িট আেলাচনা কর। পেদর বয্াপয্তা িবষেয় েয েকান dিট িনয়ম উদাহরণসহ 
আেলাচনা কর। 

  
2. (a) Define obversion with example. 4

 উদাহরণসহ িববতর্েনর সংjা েলখ। 
(b) Transform the following sentences into logical forms and convert them. 3×4 = 12

 িনmিলিখত বাকয্gিলেক বচেন rপাnিরত কের আবতর্ন কের েদখাওঃ
 (i) Few men are not selfish. 
 কিতপয় মানুষ sাথর্পর নয়। 
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 (ii) Birds are not beasts. 
 পািখ পǖ নয়। 
 (iii) Honest men are generally happy.

 সৎ বয্িk সাধারণত সুখী হয়। 
 (iv) All flowers are beautiful. 
 সকল Ɏল হয় সুnর। 

(c) Explain contraposition with examples. 4
 উদাহরণসহ িবপরীত িবেরািধতার ধারণািট আেলাচনা কর।

  

3. (a) Distinguish between a ‘statement’ and a ‘statement form’ with example. Use truth 
tables to determine the following statement forms as tautology, self-contradictory 
or contingent: 

4+6 = 10

 উদাহরণসহ ‘বচন’ ও ‘বচনাকােরর’ মেধয্ পাথর্কয্gিল উেlখ কর। সতয্সারণীর সাহােযয্ িনmিলিখত 
বচনাকারgিলর sতঃসতয্, sতঃিমথয্া ও অিনিদর্Ŷমানতা িনণর্য় কর। 

 (i) )](~[~ qpqp  
 (ii) qpqp ~]~)~[(  

(b) Use truth tables to determine the validity of the following arguments: 5+5 = 10
 সতয্সারণীর সাহােযয্ িনmিলিখত যিুkgিলর �বধতা িবচার করঃ
 (i) Some parrots are not pests. All parrots are pets; therefore, no pets are pests.  
 কতক িটয়াপািখ েপাকামাকড় নয়। সকল িটয়াপািখ হয় গৃহপািলত, সুতরাং েকান গৃহপািলত নয় 

েপাকামাকড়। 
 (ii) )CB(~A  

/A~  )(~ CB  
  

4. Write short notes on: 
 

5×4 = 20
 সংিkp টীকা েলখঃ 

(a) Contradictory Opposition 
 িবrd িবেরািধতা 

(b) Sub-contrary Opposition 
 অধীন িবপরীত িবেরািধতা 

(c) Aristotelian Square of Opposition

 অয্ািরsটলীয় িবেরাধ চtেŴাণ 
(d) Sub-altern Opposition. 

 অসম িবেরািধতা। 
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5. (a) Transform the following arguments into standard form and test their validity by 
means of Venn diagram: 
 

5+5 = 10

 িনmিলিখত যিুkgিলেক তকর্িবjানসmত আকাের পিরণত কের েভনিচেtর সাহােযয্ �বধতা িবচার করঃ 

 (i) No misers are unselfish. None but misers save egg-shells; therefore, no 
unselfish people save egg-shells. 

 েকান kপণ িনঃsাথর্ নয়। েকবল kপণ বয্িk িডেমর েখাসা সĀয় কের। সুতরাং েকান িনঃsাথর্ বয্িk 
িডেমর েখাসা সĀয় কের না।  

 (ii) IAI-1st figure 
 IAI-pথম সংsান 

(b) Transform the following into standard form and prove the validity by means of 
syllogistic rule: 

5+5 = 10

 িনmিলিখতgিলেক তকর্িবjানসmতrেপ পিরণত কের নয্ােয়র িনয়মানুসাের �বধতা িবচার করঃ 
 (i) All that glitters is not gold, so gold is not the only precious metal, since only 

precious metals glitter. 
 যা চক ্ চক ্  কের তাই েসানা নয় সুতরাং একমাt েসানা দামী ধাt নয়, েকননা একমাt দামী ধাtই চক ্ চক ্  

কের। 
 (ii) OAO-4th figure
 OAO-৪থর্ সংsান 
  

6. Explain analogical argument. Distinguish between ‘good analogy’ and ‘bad 
analogy’ citing examples. 
 

5+15 = 20

 উপমাযুিk আেলাচনা কর। ‘ভােলা উপমাযুিk’ ও ‘মn উপমাযুিk’র মেধয্ পাথর্কয্gিল আেলাচনা কর। 

 
——×—— 

 


